



$$r = \omega - \varepsilon \cos \varphi \rightarrow \cos \varphi = \frac{1}{\varepsilon}$$

$$\omega r - \varepsilon \frac{1}{\varepsilon} \cos \varphi = \varepsilon_0 \rightarrow \sqrt{\varepsilon_0} = \boxed{r \sqrt{1_0}}$$

الف) $\sqrt{19 - r_0} = \sqrt{\varepsilon_0} = \boxed{V}$

ب) $\frac{1}{r} \times \omega \times r \times \frac{\sqrt{r}}{r} = \boxed{1_0 \sqrt{r}}$

$$a^r = b^r + c^r - 2bc \cos A \Rightarrow \frac{b^r + c^r - b^r c^r + r b c \cos A}{b c (\cos A + 1)}$$

$$\frac{r b c (1 + \cos A)}{b c (\cos A + 1)} = \boxed{r}$$

$$a^r + b^r - c^r = a^r + a^r b - a^r c \rightarrow (b - c)(b^r + c^r + b c) = (b - c) a^r \quad ①$$

$$a^r = b^r + c^r - r \cos b c \quad ②$$

$$①, ② \Rightarrow b^r + c^r - r \cos A b c = b^r + c^r + b c \Rightarrow \boxed{\cos A = -\frac{1}{r}}$$

$$\hat{A} \approx 120^\circ$$

$$(r - \cos \theta)(1 + r \cos \theta) \times \frac{1}{r} \times \sin r_0 = r \rightarrow A = -r \cos^2 \theta + A \cos \theta + r$$

$$r \cos^2 \theta - A \cos \theta + \omega = 0 \rightarrow \cos \theta \times \frac{A}{r} \rightarrow \vec{0} \vec{0} \vec{0}$$

$$\triangle \begin{matrix} r \\ r \\ \varepsilon \end{matrix} \xrightarrow{a} a^r = r_0 - 14 \times \cos r_0 = \boxed{r_0 - 1 \sqrt{r}}$$